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DEFINITION AND SCOPE OF ECONOMICS
SCOPE OF ECONOMICS
Economics is a social science because it deals with various aspects of human behavior. It is also a science because it makes use of scientific tools to arrive at a logical conclusion about a variable.
DEFINITION OF ECONOMICS
Different scholars have defined economics in various ways but the syllabus restricts us to the study of the following;
1. Alfred Marshall: “A study of mankind in the ordinary business of life”.
2. Adam Smith: An inquiry into the nature and causes of wealth of nations”.
3. John Stuart Mill: ‘The practical science of production and distribution”.
4. H.J. Davenport: “The science that treats phenomena from the stand point of price”.
5. Professor Lionel C. Robbins: “The science that studies human behavior as a relationship between ends and scarce means which have alternative uses”.
Among all the above mentioned definition, Professor Lionel’s definition is the most generally accepted one because it embraced a major aspect of economics. The underlined terms mentioned above means;
i. ENDS: This refers to human wants or needs which are often insatiable or unlimited.
ii. SCARCE MEANS: This refers to the resources needed to satisfy the unlimited human wants. However, the available resources are often limited in supply. So, while human wants are unlimited, the resources needed to satisfy human wants are itself limited.
iii. ALTERNATIVE USES: This means that our scarce resources can be put into different uses. That is, since human wants are unlimited and the resources needed to meet them are limited, man should learn to plan his resources in such a way that , he attends to his most pressing needs first and foremost  and then put away others that are not so pressing till some other time. 
BRANCHES OF ECONOMICS
Economics can be grouped into two major divisions namely;
1. Macro- economics: This is the branch that deals with the smaller units of an economy e.g. cost, output, production e.t.c.
2. Macro- economics: This is the branch that deals with the larger units of the economy e.g. inflation, national income, unemployment e.t.c.
Other branches of Economics
1. Pure Economics: They deal with the study of laws and theories in economics.
2. Applied Economics: They apply or use the law and theories to analyse and solve economics problems.
3. Mathematical Economics: They collect and analyse data to derive economic principles.
4. Monetary Economics: They study money and banking.
5. Business Economics: They are economic aspects that deal with the study of trade and accounting.
6. Development Economics: They study economic planning of a nation.
BASIC CONCEPTS OF ECONOMICS
The basic concepts are;
1. WANTS: it is defined as the desires or needs of man e.g. food, clothes, cars, shelters, jewelries e.t.c. human wants or needs  are described as insatiable or unlimited because man is in constant want of one thing or the other.
2. SCARCITY: this is the shortage of goods and services compared to the demand for it. i.e the resources needed to satisfy human wants are limited or not in abundant supply hence, economic is concerned about how to allocate the limited resources among the unlimited wants of man.
3. SCALE OF PREFERENCE: This is the arrangement of man’s unlimited needs in order of importance or order of priority e.g. Mrs. Eko has the sum of 20,000  to purchase the following items, shoes 5,000, Food 8000, fridge 6000, wrist watch 3000 and pots 4000. Since the amount she has cannot buy her everything, she arranges the needs according to the order of importance.

Mrs. Eko’s scale of preference
	ITEMS
	PRICES (#)

	Fridge
	6000

	Pots
	4000

	Food
	8000

	Shoes
	5000

	Wrist watch
	3000


 


Importance of scale of preference
I. Efficient allocation of resources:
II. Maximize satisfaction:
III. Rational decision:
IV. Financial prudence:
4. CHOICE: This is the act of selecting one out of a number of options. For example, the student who is faced with the needs of buying a school bag and a pair of shoes due to his limited resources had to go for the school bag, so the school bag is his choice.
5. OPPORTUNITY COST: It is also known as real cost, prime cost or true cost. It is defined as the alternative forgone. In order words, it is the item that is given up or sacrificed in order to obtain something else e.g. a student needs a school bag and a pair of shoes each costing 80 and 70 respectively. Since the student cannot buy the two items at the same time, he has to buy one and forgo the other. This calls for choice between the two. If he buys the school bag and forgoes the pairs of shoes, the opportunity cost is the pair of shoes she did not buy. 
MONEY COST is defined as the amount spent in purchasing the chosen items e.g. the money cost in the above mentioned example is the 80 he spends in buying the school bag.
Importance of opportunity cost
A. To the individuals
· It enables individuals to make a wise decision
· It enables efficient use of scarce resources
B. To the firms
· It helps firms to decide the best production techniques to adopt.
C. To the government
· It helps the government in budget preparation
· It helps the government in decision making process 
IMPORTANCE OF ECONOMICS 
1. Rational decision:
2. Development of an economy:
3. Production processes:
4. Maximization of profit:
5. Allocation of resources:



BASIC TOOLS OF ECONOMICS ANALYSIS
STATISTICS
It is an important tools of Economics. It is defined as the process of collecting, analyzing and interpretation of numerical information or data. It is important because it enable us t arrive at a certain conclusion about a whole population by subjecting a small part of the population to a detailed quantitative study.
TABLE
A table is an orderly arrangement of information showing the relationship between variables. Below is a table showing the performances of four students in an entrance examination.
	Students
	Subjects
	Total marks

	A
	60    40     80
	180

	B
	          60    80     60
	200

	C
	          40    80     60
	180

	D
	          50    60     80
         210  260    280
	190
750


GRAPH
A graph is a diagram showing the functional relationship between two variables. Graph is a basic tools used by economists for economics analysis.
Example: draw a graph based on the following data;
	X
	3
	5
	7
	9

	Y
	5
	10
	15
	20
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BAR CHART
A bar chart is a series of rectangles whose height are drawn proportionally to the values that are being represented. A bar chart may be arranged vertically or horizontally.


Types of Barchart
1. Simple bar chart: This is used when a data contained only one variable. The table below represents enrolment in EHJMC over 4 years. Draw a barchart to represent the data.
	Years
	Enrolment

	1982
	400

	1983
	500

	1984
	550

	1985
	600




A spacing of 10 lines
2. Component Bar chart: It is used when a chart contains more than one variable. Below is the population in millions of males and females of some towns in Edo state.
	Towns
	Males
	Females
	Total(M)

	Uromi
	80
	60
	140

	Ubiaja
	60
	50
	110

	Ekpoma
	70
	30
	100

	Irrua
	30
	15
	45




A SPACING OF 20 LINES IS HERE
3. Multiple Bar chart: This is used when a data contains many variables. Below is Nigeria’s export of cocoa from Ibadan, Abeokuta and Akure in 1960, 1970 and 1980.
	Towns
	1960 tons
	1970 tons
	1980 tons

	Ibadan
	30
	40
	50

	Abeokuta
	40
	30
	60

	Akure
	50
	70
	40
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HISTOGRAM
It is a graphical representation of a frequency distribution. It consists of a set of rectangles.
Represent the data below on an histogram;
	Number of days
	Tuber of yams

	1
2
3
4
5
6
7
8
9
	4
12
7
20
12
9
1
5
3
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PIE CHART
A pie chart is a pictograph drawn in a circle to represent relative changes in total values. A circle has an angle of 360 degrees. Below is the value of the most important export of Nigeria in 1980.
	Export products
	Values in Million

	Cocoa
	200

	Groundnuts
	140

	Petroleum
	240

	Coal
	50

	Others
	90



SOLUTION
Sector    =             N               ×    360⁰
                      Total Figures  
Petroleum     =         240          x     360⁰
                               720                             =   120⁰
Cocoa           =         200          x     360⁰
                               720                              =   100⁰

Groundnut       =    140         x     360⁰
                             720                               =       70⁰
Coal                =      50       x      360⁰
                              720                              =       25⁰
Others            =       90       x     360⁰
                              720                              =      45⁰
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MEASURE OF CENTRAL TENDENCY

1. ARITHMETIC MEAN: This is the average of a series of figures or values. It is represented as;
X =    ɛ×
          n
Where;
X     = Arithmetic mean
ɛx   =   Summation of variables
n    = number of items in the series
Example; 
i. Find the mean of 25 ,27 ,24 ,23 ,21 ,23 and 20.
SOLUTION


A SPACING OF 5 LINES


ii. Calculate the mean of the following sets of numbers 8, 16, 24, 8, 12, 12, 18, 24, 10, 16, 20, 24, 24, 12, 24, 12, 16, 24, 18, 18.

A SPACING OF 20LINES
MEDIAN: The median is the middle number of a set of numbers arranged in ascending or descending order of magnitude.
How to calculate the median
i. Odd number
Median       n      +       1
                         2
Example 1: Find the median of the following set of values 2, 8, 11, 13, 15, 6, 9, 2 and 7.
Solution
a. Arrange data in ascending or descending order of magnitude
b. Median    =    n     +      1    =   9      +     1     =  10      =     5th number
                           2                          2                  2
c. Since the 5th number is 9; the median is 9.
ii. Even number
Median      =     2 middle numbers
                                 2
Example 2: Find the median of the following numbers 20, 8, 12, 8, 10, 14, 18, 5
Solution
a.  Arrange data in ascending or descending order
b. Add the two middle numbers and divide by two
c. Median   =      2 middle numbers       =       10     +      12   =       11
                      
                               2                                       2

MODE: It is defined as an average that occurs most frequently in a series of values.
Example: Find the mode of 3, 4, 5, 6, 3, 7, 4, 8, 3, 9 and 10.
Solution: 3 is the mode because it is the most occurring number or figure.

GEOMETRIC MEAN: It is the Nth root of the product of the numbers.
                           
                         G =  N  +X2 + X3----Xn 
Where x  =    individual value.
Example: Calculate the geometric mean of the following set of data 6, 8, 12
Solution
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HARMONIC MEAN: It is the reciprocal of the arithmetic mean of the reciprocal of some given numbers.
         
A SPACING OF 4 LINES   
                                             
                                               
Example: Calculate the harmonic mean of the following set of data 4, 6 and 8.
A SPACING OF 15 LINES


QUADRATIC MEAN: It is defined as the square root of the arithmetic mean of the squares and it is also known as Root Mean Square (RMS).
RMS    =    


Example: Calculate the quadratic mean of the following set of numbers 2, 4, 6 and 8.
Solution
A SPACING OF 15 LINES

RANGE: It is defined as the difference between the highest and lowest figure in a series.
                            Range®    =    HN    -    HL
Example: Find the range of these numbers -30, 60, 60, 85 and 90.
Solution
R   =     HN     -     HL
      =     90 -     -    30 
                                                     =       120 MARKS
MEAN DEVIATION: It measures the dispersion around the arithmetic mean.
M.D     =   1     (X   -    X)         OR        ɛ (X    -  X)
                n                                                 N
Example 1: Calculate the mean deviation of the following data 30, 60, 60, 85 and 90.
Solution
A SPACING OF 17 LINES

Example 2: Calculate the mean deviation for the set of data in the table below
	Age of students
	8
	10
	14
	18

	Frequency
	4
	3
	5
	8





Solution
	Age (x)
	Freq (f)
	ɛfx
	X   -     x
	F (x  -   x)
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STANDARD DEVIATION: Standard deviation is a measure of the extent or degree of scattering of a frequency distribution about its arithmetic mean. It is the square of the variance.
A SPACING OF 3 LINES

VARIANCE: It is the arithmetic mean of the square of the deviation of the observation from the true mean.

A SPACING OF 3 LINES
Example: Find the variance and standard deviation of the marks 30, 60, 60, 85 and 90.
Solution
A SPACING OF 18 LINES

CLASS WORK
The marks scored by chemistry students in their NECO examination are presented in the table below. Calculate the variance and standard deviation.
	Marks
x
	Freq
F
	fx
	(x   -  x)
	(x   -   x)
	f(x   -  x)
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THEORY OF COST
DEFINITION: Cost of production is defined as the various amount incurred in the use of factors of production in order to produce goods and services.
BASIC COST CONCEPTS
1. Fixed cost (FC): It is also called overhead cost or unavoidable cost. It is defined as that cost which does not vary with the change in the level of output e.g. land, machinery, rent, motor vehicles e.t.c.
                                                FC  =           TC – VC
                                                                         OR
                                              TFC =            AFC     X     Quantity








2. Variable cost (VC): It is also called prime or direct cost. It is defined as the cost which changes as the level of output changes e.g. wages, cost of raw materials, fuel, electricity, labour e.t.c.
                                                    VC     =        TC     -       FC








3. Total cost (TC): This is the total amount incurred in the production of a particular commodity. It is also defined as the total amount of fixed and variable cost incurred in the production of a particular commodity.
                                           TC    =          FC        +           VC
                                                                          OR
                                           TC     =         AC       X        Q










4. Average cost (AC): It is defined as the cost per unit of output. 
                                        AC        =         TC/Q
                                                                   OR
                                       AVC      =    TVC/TQ        =       ATC   -   AFC













5. Marginal cost (MC): It is also called incremental cost. It is defined as the extra cost that is incurred by the firm in producing an extra unit of an item.
                                           MC     =                ΔTC/ ΔQ








THE RELATIONSHIP BETWEEN THE VARIOUS COST CONCEPTS
















DISTINQUISH BETWEEN ECONOMIST AND ACCOUNTANT VIEW OF COST
An Accountant views cost in terms of the amount of money to purchase a commodity. In order words, he views cost in terms of money cost while the Economist views cost in terms of opportunity cost.
The Accountant says cost is explicit. Explicit cost refers to all the payments made directly for the materials used during the course of production e.g. transportation fare, salary payment, raw materials e.t.c.
The Economist refers to cost as implicit. Implicit cost refers to the cost which the owner of the firm directly incurred on factors of production e.g. investor’s salary.
SHORT-RUN AND LONG-RUN COST
The short – run is defined as the period short enough not to permit varying certain factors of production i.e. it is a period of time in which certain factors of production of the firm such as building requirement e.t.c. are fixed because of the short period at that time. It can also vary factors such as labour and raw materials. To be in production in the short-run, the firm must cover the variable cost.
The long-run cost is a period long enough to permit varying all the factors of production. If there is an increase in demand for instance, this can be met by expanding capacity e.g. by installing more machinery. Long-run decision includes investment decision to expand capacity or to shut down or to branch out into a new line of production.
In the short-run, the following are the resultant effects;
1. If price    =    VC, it will led to low profit unless AV is covered.
2. If price    <     AVC, the firm will run at a loss.
3. If price     >     AVC, the firm will cover its fixed cost.
EXAMPLE
1. Given that fixed cost is 500, variable cost is 1500 and output is 5 units. What will be the Average cost at producing one unit?










	Output
	FC
	VC
	TC
	MC
	AC

	0
10
20
30
40
	140
140
140
140
140
	?
20
110
180
280
	140
210
?
320
420
	-
?
4
?
?
	?
21
12.5
?
10.5


Calculate the missing figures and show your workings.



























ASSIGNMENT
Given the cost equation of a firm in naira as C = 20   +  2Q. Calculate;
a. The total cost of producing
i. 12 units of the products
ii. 36 units of the products
b. The average cost when
i. 48 units were produced
ii. 58 units were produced
c. The marginal cost when
i. 23 units were produced
ii. 36 units were produced
DIVISION OF LABOUR AND SPECIALIZATION
DEFINITION: 
Specialization is the process of continuously handling an aspect of production by a specialist in order to allow better and faster production and greater output.
Division of labour is the process of breaking down the production process into stages with each stage allocated to a specialist(s).
Advantages of division of labour and specialization
1. It saves time
2. It increases output
3. It leads to specialization
4. It promote friendly relationship
5. It reduces fatigue
6. It paves way for the use of machines at each stage
7. It create employment opportunities
Disadvantages of division of labour and specialization
1. There is monotony of work which create boredomness
2. It brings about unemployment as a result of machines replacing man. Also in the case of retrenchment or sack, a specialist finds it hard to get employed
3. Decline or loss of craftsmanship as a result of the use of machine. This is because they do not make use of their skills in carrying out the production but the machine does the job i.e. they only become machines operators.
4. It causes much inter- dependence among workers.
5. It exposes workers to the risks of being immobile in jobs.
6. It leads to mass production which may affect the quality of the product.
Limitation of division of labour and specialization
1. Size of the market: If the market or demand for the commodity is high, it will encourage mass production and thus division of labour.
2. Availability of labour: If there are on labour weather skilled or unskilled, it will affect the production or division of labour.
3. Availability of capital: If the capital for expansion which will encourage division of labour will be favoured.
4. Nature of the product: The nature of the product may not allow for division of labourof labour e.g. driving, barbing e.t.c
5. Level of technology: The level of technology available to the business can limit the extent of specialization.
Inter- relationship between production, specialization and exchange and types of goods
1. Exchange: It is defined as the process of giving out value in order to have something of value in return.
Exchange arises because of excess production of goods and services.
2. Types of goods: There are two main types of goods namely;
i. Capital goods: There are goods which are not wanted for their own sake but only because they assist the production of other goods e.g. machines
ii. Consumer goods: These are goods which are purchased for personal use or immediate consumption e.g. foodstuff, electronic e.t.c.
ASSIGNMENT
Draw a production chart showing the process of producing Chin- chin.






















BUSINESS UNITS
DEFINITITON: A business is an economic activity that people engage in to earn profit so as to make a living. There are five types of business units namely;
●Sole proprietorship
●Partnership
●Limited Liability
●Public Enterprise
●Co-operative Society

SOLE PROPRIETORSHIP
Definition: It is also known as entrepreneurship or a one- man business. It is defined as a business unit that is owned, financed and controlled by one person with the aim of making profit. Examples of such businesses are Dangote Company, Eucharistic Heart of Jesus Model College AIT Daar Communication, Olaolu Hospital , Iya Yusuf restaurant e.t.c.
Formation of a Sole Proprietorship Business: They undergo ordinary registration. The process of forming them is not tedious or rigorous.
Sources of Capital
1. Personal savings
2. Loans from banks/ overdraft
3. Inheritance
4. Grants from the government
5. Trade credit
6. Contributions from friends and relatives
Advantages 
1. Capital: It requires a small capital to set up depending on the scale of operation
2. Registration: It is easy to establish as it undergoes ordinary registration
3. Decision making: There is quick decision making that can enhance effectiveness and efficiency in his production
4. Profit: He takes all the profits alone after paying out wages
5. Easy to manage: He can manage the business without expert management. 
6. Privacy: There is privacy in the business as he only knows the secret of his business since he is not required by law to publish his accounts.
7. He has close contact with his employees which makes supervision to be easy and hence effectiveness
8. He has close contact with his clients which makes him able to give quality products to them and thus satisfy their needs;
Disadvantages 
1. Inadequate Capital: He lacks sufficient capital to fund his business as a result of the size of his business and in most cases finds it hard to secure loans from the bank.
2. Risk: He bears all the risks involved in the business
3. Continuity: Most of them do not survive as soon as the owner dies.
4. Unlimited Liability: The liability of the sole proprietorship is unlimited  because in the event of bankruptcy, his personal private properties is liable to be used to settle his debts.
5. Specialization: He lacks specialization in the business and in most cases gets involved in every aspect of the business.
6. Expansion: He lacks expansion as a result of inadequate capital.
7. It is not a legal entity hence the business cannot sue nor be sued.

PARTNERSHIP BUSINESS
Definition: It is defined as a business unit that is owned, financed and managed by a minimum of two to twenty persons with the aim of making profit. The partnership business must carry an inscription such as & Co; & Sons, & Daughters, & Groups, & Companies e.t.c. alongside their business name. Examples of partnership business are M and B Pharmaceutical Company, Adegoke & Co. Chambers e.t.c..
Sources of Capital
1. Personal contributions from partners
2. Loans and overdraft from banks
3. Trade credit
4. Plough back profit/ Undistributed profit / Retained dividend
5. Admission of new partner(s)

Formation of the partnership business
The formation of a partnership business undergoes ordinary registration. It involves the partners coming to a term of agreement which are stated in a document called the deed of partnership. The content of the Deed of Partnership are;
i. The names of the partners
ii. The objective of the business
iii. The office address of the business
iv. The duration or life span of the business
v. The nature of the business
vi. The rights and duties of the partners
vii. The signatories to the account
viii. The rights of duties of the partner
ix. The payment of partner’s salaries
x. The nature of the product to be transacted
xi. The provision of capital
xii. The sharing of provision
xiii. The circumstance under which the partnership should be dissolved
xiv. The signatories to the account
Types of Partners: There are five types namely;
1. Nominal/ Quasi Partner:  This partner only contributes his name to the business. I.e. the business is named after him. He must be a person of high reputation in the business world. However, he shares in the profits of the film.
2. General Partner: He participates in the general management of the business and has unlimited liability.
3. Sleeping /Dormant Partner: He is so called because he is not involved in the running and management of the business. He receives profit as well as has an unlimited liability
4. Active partner: He is the type that is involved in the day-to-day management of the business for which he is paid salary aside receiving his profit at the end of the financial year.
5. Limited Partner: He is a type of partner that though contributes capital to the business but is not involved in the management of the business. He has a limited liability in the business because he can only lose what he invested into the business in case of any eventuality. He shares in the profit making.

TYPES OF PARTNERSHIP: There are two types namely;
1. Limited Partnership
2. General / Ordinary Partnership
Limited Partnership: This kind of partnership is the type where there must be one general partner with an unlimited liability and one limited partner with a limited liability. The partnership must be registered under the Limited Partnership Act.
General / Ordinary Partnership: This kind of partnership is the type in which all the partners takes equal responsibility in the business i.e. they all share equal part in the running and management of the business as well as shares equally in the risk and profit making. 
Advantages of the partnership business
1. Large capital: Since the partners are many, they could easily pool resources together through contribution.
2. Joint decision making: When two or more partner contribute their ideas, they are able to come up with better decision or resolute.
3. Better management: Better management is guaranteed because of the combination of ideas, skills and abilities.
4. Perpetual existence: Since the partners are more, even if one dies or goes insane, others still continue the business unlike the sole proprietorship.
5. Efficiency in production: Experts and qualified personnel are involved in the running of the business and that bring about efficiency in production.
6. Specialization: There is specialization in the business because they apply the principle of division of labour where each one is a specialist in their session.
7. Risk sharing: They share the risk together which makes the burden minimal on a partner if there are eventualities.
8. Possibility of expansion: They can easily expand on their scale of production by admitting new members should they need more funds.
9. Loan facility: Partnership business can easily source for loan from the bank because they are many and jointly liable.




Disadvantages of partnership business
1. Risk of dissolution: Disagreement between the partners can bring the business to an end before the expiration time thereby wasting resources and time.
2. False records: False records presented by an active partner can bring about bankruptcy to the business in the case of embezzlement of funds
3. Delay in decision making: The long chain of members in the partnership business can bring about a delay in making decision since every partner would want to be heard and this, makes decision making which would enhance the growth of the business very slow and long.
4. Unlimited liability: Their private properties could be used to settle the film’s indebtedness should in case of any incident.

LIMITED LIABILITY COMPANY
Definition: It is defined as a business organization which is owned by a group of private individuals called shareholders but which undertake the business under the management and control of a board of directors. The limited liability business is also called a joint stock company.
 Types of Limited Liability Company: There are two types of Limited Liability Company namely;
1. Private limited liability 
2. Public limited liability company:
PRIVATE LIMITED LIABILITY COMPANY
Definition: It is a business unit that has a minimum of two and a maximum of fifty (50) memberships. The name of the business must end with the word, Limited i.e. LTD.
Features of a private Limited Company
i. The name of the company must end with the word , “Ltd”
ii. It has a minimum of two and a maximum of fifty memberships
iii. They do not subscribe their shares to the public
iv. They do not publish their account
v. Their shares are not easily transferable
vi. It has absolute secrecy because they do not publish their account
vii. They have limited liability 
Sources of funds for the Private Limited Liability Company
i. Loans and overdrafts from banks
ii. Shares subscriptions from members
iii. Trade credit
iv. Plough back profit
v. Hire purchase   
vi. Equipment leasing
Advantages 
i. Large capital: They are able to source for large capital as a result of members pooling their resources together.
ii. Legal entity: They are registered with the government hence they can sue and be sued
iii. Profits: Since they operate in large scale, they are also able to make large profits from their investment.
iv. Expansion: There is possibility of expansion because there is always capital available due to the existence of many shareholders.
v. Continuity: The business has perpetual existence because the death of any one of the members cannot bring the business to an end.
vi. Liability: A member can only lose what he invested into the business in the case or event of liquidation.
vii. Management: The management of the business is invested into the hands of qualified Board of Directors who are experts.
viii. Scale of production: They enjoy internal economies of scale because they carry out production on a large scale.
ix. Decision making: Good business decisions that will help to enhance the business is ensured as a result of 
Disadvantages 
i. Limited capital: The capital available for use in the business is limited because of few numbers of shareholders.
ii. Shares are not easily transferable: One has to obtain absolute permission from all other members which is usually tedious and time consumption, before shares can be transferred.
iii. Subscription of shares: They cannot sell shares to the public hence this use to affect their ability to expand
iv. Payment of tax: They pay corporate tax to the government asides their personal income tax.
v. Decision making: It takes a very long time to arrive at a concrete decision because of the long chain of shareholders and this sometimes harpers productivity.
PUBLIC LIMITED LIABILITY COMPANY
Definition: It is a business unit that has a minimum of seven memberships with no maximum limit. The name of the company must end with the word, “PLC”.
Features of a public limited liability company
i. It has a minimum of two memberships with no maximum limit
ii. The name of the company must end with the word ,”PLC”
iii. It shares are easily transferable
iv. It issues it shares to the public for subscription
v. It must publish its account to the register of companies for public consumption
vi. Its liability are limited
Advantages 
i. Existence: It has perpetual existence
ii. Liability: Their liability is limited to the amount of fund invested into the business
iii. Management: Efficient management team of Board of Directors is appointed to run the business.
iv. Large capital: They are able to source for large capital which enable the business to grow to full capacity
v. Legal entity: It can sue and be sued.
vi. Expansion: There is possibility of expansion
vii. Scale of production: Due to the availability of capital they are able to produce or go on mass production
viii. Profit: There is economies of large scale production which enables them to make reasonable profit
ix. Loan facilities: Banks find it easy to grant loans to public limited companies.
Disadvantages
i. There is no privacy
ii. There is a formal relationship between the workers and the owners and this can affect productivity as a result of worker’s unrest.
iii. Operational cost of organizing is high
iv. Vital information about the company are furnish to the  register of companies for publishing and such details could be used to a company’s disadvantage by its competitors
v. There is high tax payment 
Sources of funds for the Public Limited Liability Company
vii. Loans and overdrafts from banks
viii. Shares subscriptions from members
ix. Trade credit
x. Plough back profit
vii. Hire purchase
viii. Equipment leasing
ix. Sales of debentures
x. Bill of exchange
FORMATION OF A LIMITED LIABILITY COMPANY
The steps involved in the formation of a limited liability company are as follow;
Step I: The shareholders get a promoter(s) to devise a scheme of capitalization.
Step II: The promoter(s) secures a solicitor and together, they prepare three documents which are;
1. Memorandum of Association: It is the constitution which governs the relationship between a firm / organization with its outside environment or with the public. The content of the MOA is as follow;
●The name of the company which must end with the word limited
●The registered office address
●The objects of the company
●The amount of share capital
●A declaration that the liability of the members is limited
●The names of the founders and the number of shares contributed by them
●Status of the company whether private or public
●The restriction if any, on the power of the company
2. Article of Association: It is a document which contains rules and regulations that governs the internal affairs of the organization. The content are as follow;
●The rights of the shareholders
●The methods of sharing dividends
●The method of issuing of capital
●The methods of holding meetings
●The rights and duties of the Directors
●How directors are to be elected
●The remuneration of an auditor
●Methods of auditing the account
●Transfer and forfeiture
3. Prospectus: It is a document that gives detailed information about a company. Companies also use it as an invitation to the public to purchase shares or debentures. The content of the Prospectus is;
●The particulars of the company both past and present history
●Information about the present position and future prospect
●The amount of the capital offered for subscription
●Particulars of directors and other officials
●Promoters remuneration
●The date of opening the lists
●The nature of capital offered for subscription
●Amount payable on application and allotment on each share
●The number of founders’ shares
Step III: The documents are signed, stamped and lodge with the registrar of companies who is currently located at Abuja in Nigeria.
Step IV: The registrar of Companies after carefully going through the documents certifies it and issues a certificate known as Certificate of Incorporation both to a Private Limited Company and a Public Limited Company. A Public Limited Company would still have to be issued with a second certificate known as Certificate of Trading. The certificates give the company the power to commence operation.  However, if either of them fails to commence operation within one year after the certificate had been issued, the certificates would be revoked.

PUBLIC ENTERPRISES
Definition: These are business organization that is owned and funded by the Federal, State or Local Government. The government appoints the board and council to control them. Public Enterprises are also called Public Corporation or Statutory Corporation. Examples of Public Enterprises in Nigeria are NNPC, CBN, Railway Corporation, NIPOST, Nitel, Nigerian Airport Authority, Water Corporation.
Features of a Public Enterprises
i. It is owned and financed by the government
ii. Its objective is to provide essential services to the public
iii. It is not a profit motive
iv. They are by an act of parliament
v. It is a legal entity
Sources of finance
i. Internally generated revenue
ii. Loans from the bank
iii. Grants from the government
iv. Grants from international financial institution such as IMF e.t.c.
v. Grants from foreign countries

Formation of a Public Corporation
The Public Corporation is established by an act of parliament. i.e. It is a form of legislation or law that is passed into bill by the House of Parliament i.e. the house of Representatives and the senate. 
Advantages
i. Important social services such as light, good roads e.t.c. are provided at affordable prices to the public
ii. Employment opportunities are provided
iii. Members pay less for the services than they would have paid if the services were rendered by the private sector of the economy
iv. Monopoly in the hand of the private sector is reduced thereby protecting the masses from exploitation
v. More rapid development of infrastructure is ensured.
vi. There is availability of large capital
vii. There is continuity in the business
viii. Revenue is generated for the family
ix. Quality goods are provided



Disadvantages
i. Corrupt practices if the officials often result in inefficient management of the enterprises
ii. There is delay in reaching decision
iii. There is too much political interference in their operation and this is counter productive
iv. There is inefficiency in operation because workers and officials are non chalant towards their duties
v. It usually requires large capital to operate
vi. There is danger of monopoly because of the monopolistic nature of the firm
vii. The corporation is run at a loss because of the not profitable nature of the firm
viii. There is always delay in decision- making because it has to pass through many channel before it receives approval.

CO-OPERATIVE SOCIETY
This is a business organization of a group of persons who come together for a common purpose of engaging in various economically viable ventures to better the welfare of its members. The number of shares a member can contribute is limited and it follows the principle of one man one vote. Members receive dividends called patronage rebates.
Types of co-operative: There are four types of co-operative societies and they are as follow;
1. Consumer co-operative society: It is a business organization in which the society’s investment shares are put together to set up a shop by which the goods are bought in bulk either directly from the manufacturer or from the wholesaler, and then in turn sell it out to their members and others at reasonable and affordable prices.
Advantages
i. They are able to buy goods in bulk at a subsidized rate
ii. Members take patronage rebate at the end of the year based on the degree of patronage apart from the dividend on shares
iii. It gives a member an opportunity of becoming a shop owner
2. Producer’s /Farmer co-operative society: It is a business organization in which a group of farmers/producers pool their resources together to own farms and plantation, in order to have a high bargaining power with the consumers. The profits made are shared according to each member’s share contribution
Advantages
i. Food production is enhanced, cheap and distributed reliably
ii. Free technical advises on the method of farming is ensured
iii. Loans are easy to obtain
iv. There is easy access to the use of tractors and other farm machinery as a result of the pooling together
3. Thrift and credit co-operative society: It is a type of organization in which members contribute an agreed sum of money every month into a common purse. The funds contributed is given out as loans to members at a low interest rate and at the end of the year, the profit realized is shared as dividend to members according to the contributions.
Advantages
i. Members are able to obtain loans easily without collateral
ii. Capital for investment is easy to obtain from there
iii. Members are able to form the habit of saving little money from their income
4. Multi- purpose Co-operative society: This organization is a combination of either 1 and 2 or 1 and 3 or 2 and 3.
Advantages
i. It can remain in business all year long as a result of its combination of different activities.
General disadvantages of co-operative society
i. Large scale illiteracy often make members to vote wrongly
ii. It is a loss form of competition business compared to theirs
iii. Funds are sometimes diverted into political cause
CAUSES OF BUSINESS FAILURE IN NIGERIA
i. Political instability as a result of inconsistency and frequent change in government
ii. Importation of basic raw materials
iii. Inadequate capital
Undeveloped infrastructural base which leads to high cost of production




